

$a_{14} = a_{13} q^2$ $\rightarrow \frac{a_{13} q^2}{a_{13}} = q^2 \rightarrow 2^2 = 14$	(الف) $\frac{1}{2} \times 2^2 = 2$ $a_1 q^{n-1} \rightarrow \frac{1}{2} \times 2^{10-1} = 2^9 = 512$	۱
$128 = 2^7$ $a_1 q^{n-1} = 2^7$ $2^{-1} \times 2^{n-1} = 2^7$ $2^{n-1} = 2^8$ $n-1 = 8$ $n = 9$	(ب) $a_{10} = a_1 q^9$ $a_1 = a_1 q^2$ $\frac{\frac{1}{2} \times 2^9 + \frac{1}{2} \times 2^9}{2} = \frac{2 \times 2^9}{2} = 2^9 = 512$	۲
$a_{10} = 12$ $a_1 = 92 \rightarrow a_{10} q^9$ $12 \times q^9 = 92$ $q^9 = 1$ $q = \sqrt[9]{1} = 1$ $a_{10} = a_1 q^9 \rightarrow 92 \times 1^9 = 92$	(ج) $a_1 \times a_2 \times a_3 \times a_4 \times a_5 \times a_6 \times a_7 \times a_8 \times a_9 \times a_{10} = a_1 q^{10} = 2^4 \times 2^6 = 2^{10}$ $a_{10} = 2^4 \Rightarrow P_n = (a_{10})^n = 2^4 \times 2^6 = 2^{10}$ $a_{10} = 2^4, a_{10} = 2^6$	۳
$P_n = \sqrt{(a_1 a_n)^n} \rightarrow 2^4 \times 2^6 = \sqrt{(a_1 a_n)^n} \rightarrow 2^{10} = (a_1 a_n)^n \rightarrow a_1 a_n = 2^2 = 4$	(د) $a_1 a_n = 4$	۴
$2^a, \sqrt{2}, 2^b \rightarrow 2^{a+b} = 14 \times 2$ $a+b = 4$ $\frac{a+b}{2} = 2, d$		۵
$a_1 q^{10} = \frac{x+1}{x} = \frac{x}{x+1} \rightarrow x^2 = 1 - x^2 \rightarrow x^2 = \frac{1}{2} \rightarrow x = \pm \sqrt{\frac{1}{2}}$ ۱) $a_1 = 1 - \frac{1}{\sqrt{2}}, a_2 = \frac{1}{\sqrt{2}}, a_{11} = 1 + \frac{1}{\sqrt{2}}$ ۲) $a_1 = 1 + \frac{1}{\sqrt{2}}, a_2 = -\frac{1}{\sqrt{2}}, a_{11} = 1 - \frac{1}{\sqrt{2}}$	$q^2 = \frac{a_2}{a_1} = \frac{1}{\sqrt{2}}$ $q^2 = \frac{1}{\sqrt{2}}$ $q = \frac{1}{\sqrt[4]{2}}$ $q = \frac{1}{\sqrt[4]{2}} > 0$ $q = \frac{1}{\sqrt[4]{2}} < 0$	

$$x = \frac{1}{\sqrt{2}}$$

$$a_1 + a_f = 2\lambda$$

$$a_r + a_r = 1r$$

$$a_1 = 1 - a_r = 2r - a_r = 2 - a_f = 2V$$

$$a_f = 2V$$

6

$$a_1 + a_r + a_r = 1r$$

$$\rightarrow a_1 + a_1q + a_1q^2 \rightarrow a_1(1 + q + q^2) = 1r$$

$$a_1 \times a_r \times a_r = 2V$$

$$\rightarrow a_1 \times a_1q \times a_1q^2 \rightarrow a_1^3 \times q^3 = 2V$$

$$\begin{matrix} 1 & r & q \\ a_1 & a_r & a_r \end{matrix}$$

$$q = r \\ a_1 = 1$$

7

$$r, q, 1\lambda, \dots$$

$$q = r$$

(الف)

$$s_{10} = \frac{a_1(q^{10} - 1)}{q - 1} = \frac{1 \times (r^{10} - 1)}{r - 1} = \frac{r^{10} - 1}{r - 1} = 290\lambda$$

8

$$P_n = (\sqrt{a_1 \cdot a_n})^n \rightarrow (\sqrt{1 \times r \times q})^{10} \rightarrow (r\sqrt{rq})^{10}$$

$$1, r, f, \lambda, 1r, \dots$$

$$q = q'$$

مساوي

$$-1, -r, -f, -\lambda$$

9

$$a_1, a_1q, a_1q^2 \rightarrow a_1 - a_1q, a_1q - a_1q^2$$

$$\frac{a_1(1 - q)}{1 - q} = a_1$$

$$a, a + d, a + 2d, a + 3d, \dots \quad s_n = a + (a + d) + (a + 2d) + \dots + (a + (n-1)d)$$

$$a + (a + d) + (a + 2d) + \dots + (a + (n-1)d) = (a + (n-1)d) + (a + (n-2)d) + \dots + a$$

$$rs \quad n = (a + (a + (n-1)d) + (a + d) + (a + (n-2)d) + \dots + a) \quad rs = (a + (n-1)d) \cdot n$$

$$s = (2a + (n-1)d) \frac{n}{2}$$

$$s_n = a + aq + aq^2 + \dots + aq^{n-1} \Rightarrow \phi_n = aq + aq^2 + aq^3 + \dots + aq^n$$

$$(a + aq + aq^2 + \dots + aq^{n-1}) - (aq + aq^2 + \dots + aq^n) \Rightarrow aq^n - a = s(q - 1)$$

$$aq^n - a = s(q - 1)$$

$$s_n = \frac{a(1 - q^n)}{1 - q} = \frac{a(q^n - 1)}{q - 1}$$